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Ques No. Question

1 ­ 11598
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The term independent of x in expansion of   is (1) 120 (2) 210 (3)

310 (4) 4
  

 Watch Free Video Solution on Doubtnut
  

2 ­ 11636
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If  the coefficients of   and    in  the expansion of    in powers of x

are  both  zero,  then  (a,  b)  is  equal  to  (1)    (3)    (2)    (4) 

 
 
 Watch Free Video Solution on Doubtnut
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The sum of coefficients of integral powers of x in the binomial expansion of   is: (1) 

 (2)   (3)   (4) 
 

 
 Watch Free Video Solution on Doubtnut
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If the number of terms in the expansion of   is 28, then the sum of the

coefficients of all the terms in this expansion, is : (1) 64 (2) 2187 (3) 243 (4) 729
  

 Watch Free Video Solution on Doubtnut
  

5 ­ 31984
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If    denotes  the  rth  order

derivative of   with respect to   is   b.   c.   d. none of these
  

 Watch Free Video Solution on Doubtnut
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The fractional part of   is   (a)   (b)   (c)   (d) non of these 
 

 
 Watch Free Video Solution on Doubtnut
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If the sum of the coefficients in the expansion of   is 4096, then the greatest coefficient in
the expansion is   b.   c.   d. none of these

  
 Watch Free Video Solution on Doubtnut
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The sum of the coefficients of even power of   in the expansion of  is   b.
 c.   d. 

  
 Watch Free Video Solution on Doubtnut
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If  the  last  tem  in  the binomial expansion of    ,  then 5th  term  from

the beginning is   b.   c.   d. none of these
  

 Watch Free Video Solution on Doubtnut
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The  total  number  of  terms  which  are  dependent  on  the  value  of    in  the  expansion  of 

 is equal to   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If   is an integer between 0 and 21, then the minimum value of   is attained for 
 b.   c.   d. 

  
 Watch Free Video Solution on Doubtnut
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If   occurs in the expansion   , then the coefficient of   is   b. 

 c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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If the coefficients of 5th, 6th , and 7th terms in the expansion of   are in A.P., then 
a. 7 only b. 14 only c. 7 or 14 d. none of these

  
 Watch Free Video Solution on Doubtnut
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In the expansion of   , if the sum of the coefficients of  is 0 , then 

 is a. 25 b. 20 c. 15 d. none of these
  

 Watch Free Video Solution on Doubtnut
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In the expansion of   , the coefficient of   is a. 144 b. 288 c. 216 d. 576
  

 Watch Free Video Solution on Doubtnut
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Coefficient of   in the expansion of   is 1051 b. 1106 c. 1113 d.
1120

  
 Watch Free Video Solution on Doubtnut
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The term independent of    in  the expansion of    is  (a)    (b) 

(c)   (d) non of these 
  

 Watch Free Video Solution on Doubtnut
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The  coefficient  of    in  the  expansion    is    b. 

 c.   d. none of these
  

 Watch Free Video Solution on Doubtnut
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If coefficient of   (where  ) is   then in same expansion

coefficient of   will be (a)   (b)   (c)   (d)   
 

 
 Watch Free Video Solution on Doubtnut
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The  coefficient  of    in  lthe  expansion  of 
  is 

 b.   c.   d. none of these
  

 Watch Free Video Solution on Doubtnut
  

21 ­ 32066

JEE Mains Super­40 Revision Series ­ BINOMIAL THEOREM
  

In  the expansion of    the number of  integral  terms  is   b.    c.   d. 

  
 Watch Free Video Solution on Doubtnut
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If   , then   is   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If    is equal to   b.   c.   d. none of

these
  

 Watch Free Video Solution on Doubtnut
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 is a prime number and `n
  Watch Free Video Solution on Doubtnut
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The  value  of    is  equal  to    b.    c.    d. 

  
 Watch Free Video Solution on Doubtnut
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The coefficient of   in the expansion of   is   b.   c.   d. 
  

 Watch Free Video Solution on Doubtnut
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If  the term independent of    in the    is 405,  then   equals   b.    c. 

 d. 
  

 Watch Free Video Solution on Doubtnut
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The coefficient of   in   is   b.   c.   d. none

of these
  

 Watch Free Video Solution on Doubtnut
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If  the  coefficient  of    equal  the  coefficient  of    in  satisfy  the 

  satisfy  the  relation    b.    c.    d. 

 
 
 Watch Free Video Solution on Doubtnut
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The  coefficient  of    in  the  expansion  of    is    b.    c. 
 d. 

  
 Watch Free Video Solution on Doubtnut
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If   then the coefficient of    in expansion of   is   b.   c. 
 d. 

  
 Watch Free Video Solution on Doubtnut
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If    is  so  small  that    and  higher  powers  of    may  be  neglectd,  then 

 may be approximated as   b.   c.   d. 

 
 
 Watch Free Video Solution on Doubtnut
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The  sum of  rational  term  in    is  equal  to   b.    c.    d.  none  of
these

  
 Watch Free Video Solution on Doubtnut
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 a.  b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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The coefficient of   in the expansion of   in ascending powers of   when 

   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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The value of   is   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If    are  the  binomial  coefficient,  then 

equals   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut

  

38 ­ 32164

JEE Mains Super­40 Revision Series ­ BINOMIAL THEOREM
  

If    then  the  value  of 

 is   b.   c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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If 

 b.   c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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The number of real negative terms in the binomial expansion of   is
a.  b.   c.   d. 

  
 Watch Free Video Solution on Doubtnut
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